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Algebra 2 

8-07 Binomial Distributions 

Probability Distribution 

• _____________________ that gives the probability of ________________ of the possible outcomes in a probability experiment 

• The sum of the probabilities = __________ 

Construct a Probability Distribution 

1. Make a table of ____________________________ 

2. Make a ______________________ 

The spinner is divided into three equal parts. Let x be a random variable that represents the sum when the spinner is spun 

twice. Make a table and draw a histogram showing the probability distribution for x. 

 
 

 

 

 

 

What is the most likely sum when spinning the three-section spinner twice? 

 

 

 

What is the probability that the sum of the two spins is odd? 

 

 

 

Binomial Distributions 

• Two outcomes: ________________________ or ____________________ 

• Independent _____________ (n) 

• Probability for success is the ______________ for each trial (p) 

𝑃(𝑘 𝑠𝑢𝑐𝑐𝑒𝑠𝑠𝑒𝑠) = 𝐶𝑛 𝑘𝑝
𝑘(1 − 𝑝)𝑛−𝑘 

Calculate the probability of flipping a coin 20 times and getting 3 heads. 

 

 

 

 

only 1 head 
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At college, 53% of students receive financial aid.  In a random group of 9 students, what is the probability that exactly 5 of 

them receive financial aid? 

 

 

 

 

Draw a histogram of binomial distribution of students and find the probability of fewer than 3 students receiving financial aid. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

In your school, 30% of students plan to attend a movie night. You ask 5 randomly chosen students from your school whether 

they plan to attend the movie night. 

a. Draw a histogram 

 

 

 

 

 

 

 

 

 

 

 

b. Most likely 

 

 

 

c. Probability at most 2 attend 

 

 

 

 

 

453 #1, 3, 5, 7, 9, 11, 12, 13, 16, 17, 19, 21, 23, 25, 27 = 15 


